T8 B A 15 — MR T — M A B R R OB A B A SR

F1—1. /RN R (AEPTRR])

Fl1—2. FHE A NANSIRGRELDE])

TEFEF L BB | RIAE K E5 S FLE K FEIAIA | HFHEIA
(YR <) Ko (D) | W g HEAR | ATHE®)
7,550 22,599 7,807 34.5 429 110 26.1
#1—3. ?ﬁ%&%@g%%(?ﬁfﬁ%% %] #1—4. FERBRHE AN DR BRI  *
o FEEEEL | EEREE | IEE A . i e | BEIANA | #BaA L
A GRZBRO | e | (o~ | s s AEFAE | s | AnE®
AR 457 1,552 646 41.6] AR 34 10 29.4
ey 349 718 385 53.6] |3 2 2 100.0
HE S5 1,856 7,584 1,928 25.4) B E T 112 23 20.5
LS 575 1,614 379 23.5] PEZE 13 3 23.1
et /e =t 619 2,491 561 22.5] |BE T 10 2 20.0
PG 471 614 155 25.21 |HEH 0 0 0.0
[ 788 2136 901 42.2) | E%H 40 0 0.0
JEokay 99 374 268 71.7] S 1 1 100.0
e 298 1072 296 27.6] EEEE 14 4 28.6
T2 939 1840 1326 72.1] | T2 5 4 80.0
A RE 266 716 330 46.1) AW/ pESE 4 3 75.0
& gt 6,717 20,711 7,175 34.6] |Hss 17 32 41.6
A fE 1 1 100.0
& Et 313 85 27.2
F1—6. REFBEERFEE A PSR (BRI RR)
£1—5. KL R (AR mamss | seran | P BRI
\ A EREFE | EEsEE | RIEEK A AL .
E’T’%%’l‘#% ({7k,—%4|3/%<) ;& 3 (@/\) E%%‘?‘(%) 7 L\{I}%’l’%ﬁ%%’,’ 13 5 38.5
N Nis e A ae 71 153 51 33.3] |SCEEAETER: 0 0 0.0
SRR 22 27 12 44.4) B R 47 3 6.4
20N 266 643 161 25.0] | EEE R 4 1 25.0
tE =B et 2R 23 50 24 48.01 AR 0 0 0.0
PSR 4 4 1 25.0] |cimE B Erse 1 0 0.0
Seua R A 27 27 8 29.6] | KSR AT 0 0 0.0
%= B SR CR A S S 8 10 0 0.0] |ZZEmrzes: 9 7 77.8
TAE5eEL 280 451 250 55.4 |AEWE R IR 30 7 23.3
‘L BEEL ST EL 114 474 111 23.4] |EHBEWH 3R 0 0 0.0
(=B b SRR 2 3 1 33.3 %ﬁlﬁﬁ%?ﬁﬁ%uﬁgzﬁ 3 0 0.0
R S B e B T 16 46 13 28.3| s Oyt 2 2 100.0
o &t 833 1,888 632 33.5) e— _ |
& Et | 109] 25| 22.9

*1 SRR FARIT — 4, REHER
%2 BHEIAANE: HAB R T — 5
€3 IR BEAH () (T4, BRI LB B




	２８第1

